Comet Bay College YEAR EIGHT 2024 Difference Output ALL ORDERS MUST BE COMPLETED Online at www.campion.com.au by Friday 22nd December 2023 Using "TDCQ" as your code

Orders can still be placed past the 'return date' but it may incur a late fee.

PREPACKAGED DELIVERY SERVICE

HOME DELIVERY

Your order will be dispatched for \$5.00, no later than the week ending 19th January 2024 but where possible will be dispatched earlier, if placed on or before the return date of Friday 22nd December 2023.

Orders placed after the 22nd of December will incur a late fee of up to \$12.00. If ordering later, please allow sufficient time for delivery to occur prior to the commencement of the school year.

Please refer to Campion's website www.campion.com.au for up-to-date information on our trading hours and our full terms and conditions.



Your Campion Store 25B BAILE ROAD CANNING VALE WA 6155 Contact Us 08 6240 2778 salesperth@campion.com.au

		Please tick the items required in the box prov	vided ↓		
Office Use	Description	item ite	<mark>I</mark> tem Qty eqd Reqd	Unit Price \$	Total Amount \$

YEAR EIGHT

GENERAL NOTES

DO NOT send all personal items with your child on the first day of school. Teachers will advise students to bring particular items to their next class as required.

The following items only will be required on day one : All GENERAL STATIONERY items - Display Books - Mathematics Equipment

Please do not provide your child with spiral bound note pads with pages that need to be removed by tearing at a perforated edge. A lever arch file and loose leaf paper is recommended.

Comet Bay College does not permit the use of 'Correction Fluid'. Correction Tape is recommended.

Students are required to carry a school bag, the preferred colour being Navy Blue.

ONLY purchase items for the courses/subjects your child is enrolled in as per your Contributions and Charges Summary. If your child is enrolled in a course and it is not listed on this booklist, there are no additional stationery requirements for that course.

GENERAL STATIONERY - ESSENTIAL ITEMS

	Please choose ONE of the items below:	<u>(</u>	Choose One	2		
P55110	Binder A4 2D Ring 25mm PE Black - OR -	1		3	5.35	16.05
P55097	Lever Arch File A4 75mm Board	2		1	5.35	5.35
P50466	Correction Tape 5mm x 8m Marbig	3		1	5.00	5.00
P55710	Dividers Index A4 5 Tab PVC Multi Coloured	4		2	2.20	4.40
P50265	Eraser Plastic Pencil Small With Sleeve	5		2	0.30	0.60
P51353	Glue Stick 40gm Artline Purple	6		2	2.75	5.50
P50135	Highlighters Pkt 6 Micador	7		1	5.45	5.45
P56390	Loose Leaf Refills Reinforced A4 7mm Pkt 500	8		1	17.95	17.95
P56094	Pen Ballpoint Cap Type Black Medium	9		4	0.35	1.40
P56095	Pen Ballpoint Cap Type Blue Medium	10		4	0.35	1.40
P56096	Pen Ballpoint Cap Type Red Medium	11		4	0.35	1.40
P52001	Pencil (2B) Goldfaber	12		4	0.65	2.60
P50208	Pencils-Coloured 12's Columbia	13		1	2.85	2.85
P56329	Pocket Plastic A4 11 Hole Box 100	14		1	7.10	7.10
P56414	Ruler 300mm Plastic Clear	15		1	0.75	0.75
P50465	Scissors 216mm Orange Handle	16		1	3.00	3.00
P51356	Sharpener Pencil Wave Double Hole	17		1	2.05	2.05
P52086	USB Pocket Flash Drive 32GB - NO RETURNS	18		1	14.05	14.05
	1 USB is required and can be used for all subjects however an additional	USB m	ay be requ	ired for speci	fic electiv	es.
	OPTIONAL PURCHASE					
P54035	2024 Diary A5 Student Cumberland	19		1	2.15	2.15
	COMPUTING					
	Please note, USB is required (see General Stationery)					
	DANCE EXTENSION (SELECTED STUDENTS)					
	Personal Items NOT available from Campion:					
	GIRLS : Black jazz shoes/Convertible Tights Tan/Beige *Optional* Dance Extension shirts can be purchased from Attitude for Dance					
	BOYS: BLACK Jazz shoes					
DEALES	*Optional* Dance Extension shirts can be purchased from Attitude for Dance		_			
P50451	Exercise Book A4 96 Page 8mm with Margin Spirax #108	20		1	1.65	1.65

Please tick the items required in the box provided $\ \downarrow$

	·	•	∡			
0.00	Description	Item	ltem	Qty	Unit	Total
Office Use	Description	No.	Reqd	Reqa	Price \$	Amount \$
	DESIGN AND TECHNOLOGY					
	Personal Item: Closed in shoes.					
P55442	Display Book A4 20 Pocket Black Refillable	21		1	2.15	2.15
P55671	Graph Pad A4 25 Leaf 5mm 7 hole punched	22		1	2.90	2.90
P50006	Pencil (HB) Micador Essential	23		5	0.35	1.75
P56428	Safety Glasses Clear Wrap Around	24		1	6.45	6.45
	DESIGN PHOTOGRAPHY					
	(Optional, but recommended)					
	Recommend students purchase 500GB or 1TB External Drive					
P50844	Memory Card MicroSDHC 16GB Class10 with SD Adaptor-NO RETURN	25		1	14.95	14.95
P55901	Multi Card Reader 2 in 1 USB 3.0 Shintaro	26		1	17.95	17.95
	DRAMA					
	Personal Items: Theatre Blacks: Plain Black T-Shirt/Leggings and Joggers					
P50451	Exercise Book A4 96 Page 8mm with Margin Spirax #108	27		1	1.65	1.65
	ENGLISH					
P50451	Exercise Book A4 96 Page 8mm with Margin Spirax #108	28		4	1.65	6.60
	ENGLISH INTERVENTION STUDENTS ONLY					
P08485	Corrective Reading Decoding C - Student Workbook [SRA]	29		1	35.40	35.40
P50451	Exercise Book A4 96 Page 8mm with Margin Spirax #108	30		1	1.65	1.65
	HOME ECONOMICS					
	Personal Items:					
	1 x Food container (provide own, minimum 500-600mls)					
	1 x Pair of closed in shoes - heavy duty, thick canvas with hard soles.					
P55442	Display Book A4 20 Pocket Black Refillable	31		1	2.15	2.15
P54148	Exercise Book 225x175mm 64 Page 8mm Spirax	32		1	1.05	1.05
	HUMANITIES AND SOCIAL SCIENCES (HASS)					
P50671	Display Book A4 20 Pocket Clear Cover Green Refillable	33		1	2.30	2.30
P55494	Document Wallet FC Slimpick Green	34		4	1.10	4.40
P50451	Exercise Book A4 96 Page 8mm with Margin Spirax #108	35		1	1.65	1.65
	Please choose ONE of the options below:		<u>Choose One</u>			
P56354	Protractor 10 cm 360 4" Full Circle	36		1	0.85	0.85
	-OR -		_			
P56353	Protractor 10 cm 180 4" Half Circle	37		1	0.45	0.45
	MATHEMATICS					
P55278	Calculator Texas Scientific TI-30XB Multiview	38		1	37.95	37.95
P55442	Display Book A4 20 Pocket Black Refillable	39		1	2.15	2.15
P50451	Exercise Book A4 96 Page 8mm with Margin Spirax #108	40		2	1.65	3.30
P54143	Graph Book A4 96 Page 5mm Spirax #131	41		1	2.00	2.00
	MUSIC EXTENSION					
P55798	Manilla Folder A4 Buff	42		1	0.35	0.35
P55914	Music Manuscript Book No 1 - 6 Stave 16 Page Allans	43		1	9.25	9.25
	RESILIENCE EMOTION AWARE CAREERS/HEALTH					
P50451	Exercise Book A4 96 Page 8mm with Margin Spirax #108	44		1	1.65	1.65
	5 5 5 F ¹¹	-	_	-		

Please tick the items required in the box provided \downarrow

	•			•		
Office Use	Description	ltem No.	Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
P55484	SCIENCE	45	_	•	0.50	- 00
	Document Wallet FC Polydoc Green	45		2	2.50	5.00
P50451	Exercise Book A4 96 Page 8mm with Margin Spirax #108	46		2	1.65	3.30
	VISUAL ARTS					
P50265	Eraser Plastic Pencil Small With Sleeve	47		2	0.30	0.60
P52001	Pencil (2B) Goldfaber	48		4	0.65	2.60
P56475	Sketch Book A3 20 leaf Perf Board Cover Spirax #533	49		1	5.20	5.20
	VISUAL ARTS EXTENSION					
	Extension program students only.					
P51473	Brush Roymac Achiever White Taklon Round 0	50		1	3.95	3.95
P55223	Brush Roymac Achiever White Taklon Round 02	51		1	4.15	4.15
P52157	Brush Roymac Achiever White Taklon Round 04	52		1	4.60	4.60
P50969	Brush Roymac Achiever White Taklon Round 06	53		1	5.10	5.10
P55226	Brush Roymac Revolution Round 01	54		1	9.35	9.35
P52187	Display Book A3 20 Pocket Foldermate Black (Non-Ref)	55		1	13.40	13.40
P50265	Eraser Plastic Pencil Small With Sleeve	56		1	0.30	0.30
P56115	Marker Artline #210 Black 0.6mm	57		1	3.80	3.80
P56130	Pen Felt Tip Fineliner Black	58		1	2.85	2.85
P52001	Pencil (2B) Goldfaber	59		4	0.65	2.60
P50034	Sketch Block A3 25 Leaf Cartridge	60		1	4.70	4.70

Number of Boxes ticked:

Postage (Home delivery only)

\$5.00

ESTIMATED AMOUNT DUE (PRICES CORRECT AT 20/11/23)

\$

(PRICES CORRECT AT 20/11/23